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R IH H RS g FEEE B4 | A H FRAAS 3 FEVE(E AL
TILXIVIKELEY) TR H0.000555) | S hzanse | mg/0| | Bfetkers & 0.08 10 mg/0
KGR OT LRV AKERZ DIO KSR A 0.0005 A7 0.005 mg/0| | ke A E A R 0.01K7 10 mg/0
HRIY LT OZ OIS W) 0.005 ¥l 0.1 mg/0| | yurgai 0.01 K 2 mg/ 0
RO DALY 0.017i 0.1 mg/0| HFKAE AR KR 104 3H
Gl ey 0. 1A i 1 mg/0 i AR 11716H
Y AN 0.05A i3 0.5 mg/0| |[fRAHH FRATRE R SLUEME XA
WHER LAY 0.001 A 0.1 mg/0| [7rxKeE A H10.00054) | S ARNZE [ mg/0
T ALEY) 0. 1A 1 mg/0| |#skeR 0.00005 AT 0.0005 mg/ 0
FUBLE 7 == 0.0005 A5 0.003 mg/0| [mr3va 0.001 A 0.01 mg/0

[N ZA=1=E= 2 A2 0.0027K 754 0.3 mg/0| |4 0.001 0.01 mg/ 0
FrIraRTFLL 0.002A7i 0.1 mg/0| |Affizas 0.005Ai 0.05 mg/0
TrunAR 0.002 75 0.2 mg/0| |tz 0.001 AT 0.01 mg/ 0
DU AL SR 0.002 A7 0.02 mg/0| (&7 TR ) | Bitsninok [ mg/0
1,2-Yranxiy 0.002Aii 0.04 mg/0| [Fvtfke7==1 0,000k | BiiEhzanz s [ mg/0
L1-YranzFLy 0.002 At 1 mg/0| |MrmoxzFL 0.001 Al 0.03 mg/ 0
A-1,2-YraaTFLy 0.002 5 0.4 mg/0| | FrF/anTFL 0.001 A 0.01 mg/0
L1,1-F)raaT iz 0.002Ai 3 mg/0| | oramrz 0.001 Ay 0.02 mg/0
1,1,2-R)rmax i 0.002 5 0.06 mg/0 AR 0.0002 i 0.002 mg/ 0
1,3-Uranrn sy 0.002Ai5 0.02 mg/0| |1,2-vranxs 0.0002 A5 0.004 mg/0
FI5 2 0.006 A5 0.06 mg/0| |1, 1-vrmmxFL 0.001 A 0.1 mg/0
D 0.003 A3t 0.03 mg/0| | 1,2-vruuzFL o 0.001 Ak 0.04 mg/0
FA S INT 0.003 A5 0.2 mg/0| | 1,1,1-F)rmpxz 0.001 K3 1 mg/ 0
By 0.002Ai 0.1 mg/0| | 1,1,2-RranTr 0.0002Ai5 0.006 mg/0
‘LR OPZEDOLEY) 0.001 A7 0.1 mg/ 0 1,3-Y7marml 0.0002 i 0.002 mg/ 0
1FHE R OZEDLAY 0.31 50 mg/0| | Fv7a 0.0006:A# 0.006 mg/0
SOF KR OZEDOILEY 0.07 15 mg/0 e 0.0003 5 0.003 mg/0
TUEST | TR MUAY. BRI A 105.0 900 mg/0| | FA~rmnr 0.0003 A5 0.02 mg/0
FLORBILAY mg/0| |~ 0.0017K74 0.01 mg/0
IS U E S A & LB E A &) 1.0 5 mg/0| |[ELv 0.001 A5 0.01 mg/ 0
INNAAFF R E S & (B S A &) 1.0 30 mg/0| |mme s 3 R UM e A 6.57 10 mg/0
T ) — VG R 0. 1A 5 mg/0| |50 0.05K7 0.8 mg/0
LEEE S 0.0 1A 3 mg/0| g% 0.0247 1 mg/ 0
Hen oA & 0.017 2 mg/ 0 1,4-Y"4%% 0.005A i 0.05 mg/ 0
1,4- A%y 0.05A i 10 (0.5) mg/0| [Hifkt=rE/v— 0.0002 i 0.002 mg/0




